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1. Find the area:

&= .<)
=| 12cm?

9cm 7.5 cm

.z Cm

14. (a)Lines | and m intersect at point O and the
Angle between 1 and m is 23°. A figure is reflected
in line 1 followed by a refection in line m. Th
overall effect is: ReEahon, @nter 0, ongla ’:Ql‘-6° l
(b) If the parallel lines p and q are 6¢cm apart and a
figure is reflected in line p and then in line q, the

overall effect is: Trandghion[1Zem]L b ks p £ 9

2. Find the area:

@ 4)(25)
=3 bom™

3.5cm

2.4 cm

15. The shorter leg of a 30°-60°-90° triangle is 5.1

feet long. Find the perimeter. |'VZ:2 Pesivio2+
S-SR :10.2

&2,

NS

=f)9-’3-1-s‘.hf3|

16. An expression for the circumference of a circle
with radius r is: C=

3.1fFA=(3,1)and B =(2,-4).Find vector 4B
g = (2-3,-4-1> =& -

17. If two solids have the same height and the same
cross-sectional area at every level, then they have

the same? Wr

4. Two legs of a right triangle have lengths 10 and

7. The measure of the smaller acute angle is:
tonA=21n ) A=tan'(07)=[3s°

5. A rectangle has length a and width b. An

expression for its area is... | fAr=ab '

18. Which of the following is not enough
information to solve a right triangle?

(A) One side length and one acute angle
(B) One side length and one trig. ratio

(C) Twosides ((D) )Two angles

6. A(2, -3) is translated onto A’ by the vector

19. The sides of a right triangle are x + 3, x + 4, and

- | :)1
u = (—4.2) Find the coordinates of A'. ' [/ = || X ¥ 5 units long. Find the side lengths of the &;l'?)+(1+@=6‘*
< ) A= E triangle by solving for x. 'f",é.f;.;zﬁ,ff;;é {Wwﬂs
7. What is a Pythagorean triple? 20. Find the surface area of a sphere that has a axﬁ;rl::):g
a\byc whee a?tb*=c? diameter of 12 cm. Express your answer in terms of |[*=97*
2 2 2
A ?nE(’BQ(S . SA=LTr*= 4 81 ik Tlam okt
8. Triangle ABC is transformed by the motion rule | 21. A forester, 80 feet from the base of a tree,
(X, y) — (x+2,y-3) where A(3,2), B(2,4) and observes that the angle between the ground and the X
C(0,1). Find the coordinates of A’ B’, C. top of the tree is 60°. Find the height of the tree. A
A(s-N, 8w, c'(2,-2) L53:2  [wofrev] e

9. For a circle of radius 8 feet, find the arc length s
subtended by a central angle of 31°. [4 .35+ |

22. Write the ratio of vowels to consonants in the
word MATHEMATICS. [L,L- I |

10. The area of a trapezoid is 140 in”. If the height
is 8 inches and the longer base 24 inches, what is

the length of the shorter base? Round your answer
to the nearest tenth. "L(x"m‘)(s) -3'51‘-0

23. If a circle has a radius of 8 inches, what is the
circumference rounded to the nearest whole
number? (Use n=3.14) (=211 (€)= 1&T

= 16(=3. I4)
—/ro 24 in )

ll =11
11. A line which intersects a circle at exactly two 24. Use your calculator to determine tan 53°
points is called.... S2canl= |ne =[).3270

12. Find the missing angle and side measures of
AABC, given that £4=30°, ZC =90° and

_ 123 ) (3 2 LR=6D"°
CB = 10. 10Q )0 1003 2.0 T\B— 20
c A 10/=

25. Inside a semicircular tunnel of diameter 30 feet,
a vertical support beam is placed 8 feet from the
side of the tunnel. How tall is the beam? (Round to

. B = 2
one decimal place) —— =2 x =176 W

=
=

83 22

3.3¢k ]

—

\—4{?7‘ 2 AC=
13. Deﬁneaprlsm —

26. Find the area of an equilateral triangle with a

side of 7. /\ e }rzg;_i,, w

dghﬁclrbn with 21/, = facs callzd bour. other

AP N IR




27. Solve for x to the

= &

nearest degree. cos = ars
\g %= cos™! (’z")

>4 =[60°

16

hyp

36. Given: measure of arc SQ = 80°, measure of arc
PR =152° then m/x="?
S
Q

(Not drawn to scale)

2(152+8%) =

28. Find mZPSQ
if msZPSQ =3y+4

37. If all the angles in the faces of the polyhedron
below are right angles, then its surface area is...

2()2)(B)+ 2(20)(12) + 2(2

o)(8)

%)

andmZPRQ =2y +16 o 192 + 43 + 3
+4 = 25—“6 12iny v _ )
Lommmme- Ain =992
mPsQ=3y+h n 20in
= 2cr)+4 F40°]
29. Find the number of faces, edges and vertices of: 38.

fo@s= 6 The measure of arc

edger= 12 ADBiis....

varlicer= & C P s

78 30 ’ m + 3 ©

30. A segment whose endpoints are on the circle is
? [ chord ,

=1

31. Find the area of the
quadrilateral.

I =207
x= {204

=’zl'd|d
A:—L(ZS)?3I4~EDQJ

39. Find the value of x to the nearest tenth.

32. Given: measure of arc AB = 92°, measure of arc
CD=28°, then m£DOCis?

33. What is the segment that goes through center of
circle and touches circle circumference twice?

diomeknr

2 Sx =24+l
;N SBx.=4

x+2 X m’

34. Solve for x:

41. SR is tangent to circle Q
atR
Find RS. (QS =20)

(QR =28)

(Rsy=+87= 20

Rs= {326

35. (a) Find the exact total surface area of a cone
that has a slant height of 25 in and radius of 6 in.

(b) Find the height of the cone. | o5y anct j

(c¢) Find the volume of the cone.

42. What’s the ratios of the lengths of sides of

(2) 30°-60°-90°A? (b) 45°-45°-90° A?




all welilor of the polygon e on ciclo

LBM A circle is circumscribed about a %

(B) @rwmon internal /

external kangents - extemal tangents
- Erd

olygon if:
mal kangents

54. Write down all the ways that 2 triangles can be
similar. |AA ) SAS, ssS

S
cube

=7

44. Draw:
(A) aregular polyhedron
(B) anon-convex polyhedron

(C) apolygon Cl

) . . — he
45. Give two angles co-terminal with 250°_#a=kle

25200 2300~ 360 =[C116Y)

55. Given circle center Q and m/£B = 72°.
Then the measure of arc AC

‘ e -]

46. Convert 145° to radians and leave answer

in terms of . &7 =fﬁ_ﬁ
18D =3

47. A student is trying to work out the height of the
music teacher. He is 15 feet away from the teacher
and the angle of elevation from his feet to the top of

teacher’s head is 220'9120“’ tall is the tea"cher in feet
; 9 bon R°=2X x= ISton
and inches’ s —coc ~lcre I

56. Calculate the volume of the cone. Use 7 =3.14

Ve 5
—J__’T(Q )(S)

"20’1— ~20.973 mgi

48. In the figure below, an altitude is drawn to the
hypotenuse of a right trlangle Which of the

following is not true"
ﬁH 1:
2,

® @( ‘@fA
F L H

57. Find the area of the shaded region.
(Radius = 6 cm and
central angle = 50°)

= TE

= ST 7—‘{)5? 708 cm
X0

2\
Z — \
/A——
l |
|

((A) AFLG~AGHL X (B) AGLH ~AFGH
(C) AFGH~AFLG (D) AGLH ~AFLG

58. A field is 150 m by 450 m. A barn 30 m by 41

m is built in the field. How much area i over?
(se)(4s2)—(3a)(u)) =[€6270m>

’\A

24-’3\"- +

49. Find the equation of the circle with center
( 3,5)and (2, 4) is a point on the circle.

2. 2
ST u-)s\“'_r 25 +8]| x+’3\14— (y=sT=108

Y=

19 m-
MED Uzso’ ~

59. Dgg_‘vz ;Elle graphs of (a) y = cos x

&)
L @)

50.’Given: PS = 6, SR = 8, then the value of QS
is....

@ R e (b)y=sinx 3
120 y = sin X ,
" A i i a
v > (c) y=tan xm—h%i’ Eo
60. Given: In circle O, measure of arc BAC = 290°.
Find mZA
C
SIS
B
A

10 ] 4

61. An aquarium in a restaurant is a rectangular
prism and measures 2.5 feet by 5 feet by 3 feet.
What is the volume of the aquarium?

(2.5)(S)(3) —'{ 37.Sp™

52.If a=3,c= =40°, then find side b.
see enok

62. Assume that £A4 is an acute angle and
sin A=0.13. The mz/4=2 [7.5°

53. An automobile has 15-inch diameter wheels. If
the wheels revolved four times after the brakes
were applied, the stopping distance was

approximately... C = TTo.= T(IS) #E 1S T

63. Find the surface area, in square centimeters, of
a right circular cylinder if the radius is 4 cm and the
height is 10 cm. SA.= 2T (4)" + 2m(4)(10) =[112

=(112rem’ |

(bases) (l«w al)

L4 mes = 4\ ST) {E0TT (n )

V =m?*)(10) =| I6OT on 2



64. Solve for a and b.

32 = %’ a= 2‘.(—)
s 425 o @LEE

, &h\ QIE\ (~ D's)
b

35

i.=2'
e T

65. Write down the deflnltlon of similar-polygons.
All arresponding angler e = and pider proporhional

74. The pyramid shown has a rectangular base and
faces that are isosceles triangles. Find the total
surface area. (Not drawn to scale)

8 224 x=§" ® 1St x=
JL’—'JSIL—Q 1=m

3 =5 s
+ Lotpral Lol

6= +2(*)(6)J'SS +2(3

= [86.07t?|

6 ft

loq
)

\a_

(s

v

66. The sine of /A is the ratio:

75. Draw a quadrilateral with:

sin A= (a) Exactly one li.ne of symmetry. m )
L ﬁ?; (b) Exactly two lines of symmetry. =~ - -
opp hyp (c) Exactly four lines of symmetry:+ > 7 '
adj R
67. Convert 1.45 radians to degrees. o 76. Find the exact value 150°. 2, N<0”
|u_x8g ~|€3.08 cos 1S0°H 12 Lh X
>
68. Find the volume of a sphere 6 ft in diameter. 77. Solve the following system:
273% =361 231 X=2y+5 3(2u+S) THY=" +5_
69. Solve the triangle if @ = 5,b = 6,C = 399 & || 78. Find area of a sector with a radius of 4 5 _7r4
70. Define concentric circles.-{h awe some ceniear and @ = 50° . Leave the answer in terms of .5 — 2,057"_

71. (-3,4)is a peint on the terminal side of §. Find

cCosre = I—E

the exact value of cos@. =

79. Solve the triangle if a = 5,B = 42°,C = 39°

72. Reflect the triangle in the line

m m

80. State the transformation of ABC.
B ‘\
A

b B’

ahon
C l?o o

ao :
. clocKwite

»

C9

73. Find the area of the region shown by dividing it

into two trapezoids.
L (8+20)

a
S (28)

4 (2o0+15) (1))

- (syes) {5)

81. Find (a) the volume and
(b) the surface area of the triangular prism.

2
xq,___ |O1L“' 12

= J?.L:J.J.

@’)z(T)(uo)( 12) 4
Lakeral

pV=£C9)(1D)
(V= Etlwl =

19)

'-

125)
()00

190244

Tok = [3B8.S u? 19em (2)(9)+(0)(19)4
22% + 190 H

10cm Tokal =|834.'7qu |

| S



82. Find AE given that AB is parallel to CD

91. Find x.

83. 92. Plot the points A = (2, -1), B=(6, -1),
Solve for x and y. C=(6,-3)and D= (2, -3). At ead
5 8 =% Similas AT | () Reflect ABCD in the line y = 1.
- [ 68 Yy =8 (b) Rotate A’B’C’D’ 90° counterclockwise about
g x |* ",—; 17 IS the origin.
~ y= |'7)(8) (c) Translate A’B’’C*’D’” along the vector (—5,2)
S
S TS \
y =
84. Find the geometric mean of 7 and 15 93. Find the other leg of a right triangle, glven one
—;"(‘ —é. ; X = los "'>€ =165 leg is 18 cm and the hypotenuse is 34 cm. < +[8__ QJ_
85. Find the value of z J = 94. Find: s < =E=z (B 13|em
and the length of JG. H 13 (a) the volume — Base kgh ‘5’""“’
) SA.Z TR +2rD R
k- autsida= ath - oubside g 9 = (b) the surface area ' \ _,_1:(_2) =)
ZH=) (=) =(=9)@3) of the composite figure. lat. con2
243 = 27 @V=Tr2%(2) + Fm23*(3) o ur4ﬂ$r
2 = BT +-4TT » ; ={(12m 4 2413 M)cw
=1y| & _?l', = ll-zTrin —5 In.— I—cﬂ

86. The point A(5, -2) 1s ) 1s translated onto A’ by the
Vector u = (—6,7). The coordinates of A’ are:

ﬁ|=(—| )5‘)& ' §

95. (a) Find the area of a regular octagon with side

length 6 m. Round to the nearest tenth. g&- 2nd

(b) Find the area of a regular hexagon with side
length 10 cm. Round to the nearest tenth.

87. What are the angle of rotation
and the order of rotational 4

symmetr for the regular polygon?
- E2iode ST ‘

96. According to a recent survey, 30 out of 40
geometry students like math. What’s the ratio of
those students that like math to total number o
students? 'I'JCIQ-YY\G.U\ hbal= 2040 = l L

——T

88 Given: AABC is similar to ADEF' .

—

Solve forx andy. oc = &% —'51‘_2/

B 195 Ta Bz

§ o) ys 5
B 10 C E 6 F

97. Perform dNdilation with a scale factor of 2
gle and the center of dilation P.

89. Find the volume of a regular square based
pyramid with base side length of 8 cm and slant
height of Scm.

98. Triangle ABC is reflected in line x = 2 where
A(3,2), B(2,4) and C(0,1). Find the coordinates of

90. What is the effect on o) xb2=éu
(a) the volume and (b) the surface area (b) x L*x%14 ]

of a sphere if the radius is multiplied by 4?

’ 1) 1) ')C-—Z
A’,B,C. Y Ai&’” A’ _ézl ii
cco)) . A(3,2) _@i 0

—
—




@Gm dont height 25in; ol =€in
S‘uancg Prer. =TT +1rrL

| =T62+T(6)(2S)

) In+6 x*

(dv—wazf—
|2F_q 7 in’

#E2) a=3;c=4, R=40°
GQsing Rule

L> =a *+c* -2accor B
b = 2%442-2(3)(4) car 40°
b*26.€

= = +»Saﬁ
6‘3 a:f lo"'g) C—= g?i/qrg_%ir\e

6 = ‘HD —-20') C%F)C c /A = = —Ll'z °
oo SR, oy
cr— N = 4. 3’7 ‘pa A C
Al N
= S
sine rule Sin 42° - sin99°
sr'nA sin 31° b=Ssin2°
ERL s °
ﬁ—:m" Ssin39° C == = .’
TR - o — ano "
AT Sin39 sin 99
B= Igp>=s6.1°-39° = s
= — ‘. sin 99°
{84 7' ~ [ 19
" pmsr (@D em g /
h={zs-16 8-
gcm c s
<em -_-"le_ &1(3.) B 7 \
o ar Moo 3
A" 2 ﬁ) B'
y=
|_12| T ] > X
- ﬁ v 66
_2
- D C
-1




